Solving Quadratics by Factorising

Solve these quadratic equations.
@ D(xr—1) =0
() (x—4)(x+1D =0
o -4+ =0
(d x+4)(x-6)=0

e x=1

-4 oc- -1
e oc--
(d) oz=-4, oc=6

Solve these quadratic equations.

(@ x%2+5x+4=0
(b) x2+5x+6=0
€ x2+7x+6=0
(d) x2+10x+16=0
(e) x2+10x+21=0

(a)OC=-1):JC‘—-—4
(o) oc=-3 ,0c="2
(¢) X=-6 )x=’1
(a) = -8 , 0022
) 3C=—7JDC=”5

@ x*-7x+6=0
B v —6x1+8=0
() x*—9x+8=0
(d x>—9x+18=0
fel x*—11x+18=0

Solve these quadratic equations.

(a)oe=6,0c=1

(B) oc=4 ,0c=2
B 6- G oc=
(d) oc=3 JOC':GD
Ee=, oc=2

(@) x2+3x—4=0
(b)y x*+5x—-6=0
() x2+x-6=0

(d x2-2x-8=0
(e) x*—6x—-16=0

Solve these quadratic equations.

@ e oc-
(b) ~=-6 JDC-"‘
(&) x=-3,2¢=2

(4) oc=4 )OC—=—2-
(@) ¢=%, x=-2

Solve these quadratic equations.
(@) x?=24+2x

by B0+ x%2=13x

ol X e by

(dy 44 =2%%-T7x

() x2-—-x=72

B (x+ 1R dlas

(o) X=6 ,c=-4
(b) o =\0, CE =,

(c-_) 3C.=3

(&) oe=\\ ,oc=-4
(Ee= -1
(EVX:3d ,oe=-2

ac X 1Y
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